
 
 
 
 

ELEMENTY NIWELETY 
 
 
-------------------------------------------------------------------------------------------------------------- 
 ELEMENT        OD         DO       SPADEK         L/T        R       B     
                                     [%]           [m]       [m]     [m]    
-------------------------------------------------------------------------------------------------------------- 
 prosta       7980,00    8068,32    -1,120        88,32                                                                  
 łuk wklęsły  8068,32    8091,68                  11,68   3000,00    0,02                                                
 prosta       8091,68    8155,91    -0,341        64,23                                                                  
 łuk wypukły  8155,91    8174,09                   9,09   3000,00    0,01                                                
 prosta       8174,09    8210,55    -0,947        36,46                                                                  
 łuk wklęsły  8210,55    8233,45                  11,45   1800,00    0,04  min.  pik. 8227,607 rzęd. 135,778             
 prosta       8233,45    8285,97     0,324        52,53                                                                  
 łuk wklęsły  8285,97    8306,01                  10,02   2500,00    0,02                                                
 prosta       8306,01    8404,03     1,126        98,02                                                                  
 łuk wypukły  8404,03    8425,97                  10,97   4000,00    0,02                                                
 prosta       8425,97    8502,03     0,577        76,06                                                                  
 łuk wklęsły  8502,03    8521,97                   9,97   3500,00    0,01                                                
 prosta       8521,97    8580,00     1,147        58,03                                                                  
 prosta       8580,00    8767,04     1,136       187,04                                                                  
 łuk wypukły  8767,04    8832,96                  32,96   4000,00    0,14  max.  pik. 8812,491 rzęd. 141,054             
 prosta       8832,96    8994,73    -0,512       161,77                                                                  
 łuk wypukły  8994,73    9023,41                  14,34   2500,00    0,04                                                
 prosta       9023,41    9056,69    -1,659        33,28                                                                  
 prosta       9056,69    9059,69     1,000         3,00                                                                       
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